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(1) The Great Physicists ﬁom Galileo to Einstein: Let Newton Be!
(%R 1) Which one of the following is closest in meaning to (1)?
C. learning slowly
| (8% 2) What two events made Newton become victorious against (2)?
his victory in the battles of the physical front apd intelligence
(8%F 3) Which one of the following is closest in meaning to (3)?
E. ustoday
(E%F& 4) Regarding (4), what finally happened to Newton’s ideas?

The full account of his ideas was published much later in his life.

(3% 5) Regarding (5), choose the phrase from the paragraph to describe Newton’s character as a researcher.

the absent-minded professor
(E%F 6j Which one of the following is closest in meaning to (6)?
'C. unfriendly
(% 7) Order the following statements to complete a timeline of Isaac Newton’s life.

(A)»(CE)=(C(cCc)=-(D)=-(B)



() True Style: The History & Principle of Classic Menswegr, Business Attire
(8%F 1) Choose one of the following to complete the paraphrase of (1).
( ) has the time or stamina to dig deeper into the people we meet for a quick business
lunch.
C. Noone
(B%F4 2) Which phrase in paragraph 2 reflects people’s attitude towards their private and public sensé of dress?
a clear, cut-and-dried way of dealing with such imponderables
(8% 3) Regarding (2), what is this opinion about?
It is about why people wear clothes at all. k

(B[ 4) What do (3a) and (3b) refer to?

the latter (3a): people trying to stop them

the‘fonner (3b): people dressing above their level in life

(8P 5) Intoday’s world, which one of the following styles is popular when considering office staff clothing?
D. comfortable

(%R 6) Which one of the following is closest to the author’s message of (4)?

A Itis dangerous not to be aware of how we dress.



